
 

 

GLYCOL CORRECTION FACTORS 

 

 

Example: Pressure drop through the device is 5' with water at 50F.                                                               

Using a 50% propylene glycol solution.                                                                                                                                     

From chart above, correction factor is 1.75.                                                                                                           

Multiply 5' x 1.75= 8.75' corrected pressure drop for 50%PG 

 

 


